
Rev1.0                                                                                                                                                                   1/2 

 
Kawasaki TERYX® H2 Dash Mount for  

Switch-Pros® SP9100 and PCI Race Radio 
 
 
 
 
 
 
 
 

 

 
Parts Included 

1/4"-20 x 1/2" Allen Head Screw (4) 1/4"-20 Nylon Locking Nut (4) 
Installation: 
1. Remove the dash. Remove the 4 plastic push rivets. Pull the top part of the dash towards the inside of the 
vehicle, there are 2 clips securing it to the rest of the dash.  
 
 
 
 
 
 
 
 
 
 
 
 
2. Remove the rocker switches and carefully cut the dashed line. Use a Dremel or a cutting tool.  
 
 
 
 
 
 
 
 

Required Tools 
1/4” Drill Bit Dremel/Cutting Tool  7/16” Socket/Wrench 5/32” Allen 5/16” Socket/Wrench 



Rev1.0                                                                                                                                                                   2/2 

3. Mount the Switch Panel to the Dash Mount using the systems hardware kit and a 5/16” socket/wrench. Mount 
the PCI Race Radio using their supplied M4 screws. Insert the 2 factory rocker switches.  
 
 
 
 
 
 
 
 
 
 
 
 
 
4. Place the mount onto the dash, hold it flush and mark the 2 top holes and 2 bottom holes. Using the 1/4” Drill 
Bit, drill the 4 holes into the dash.  
 
 
 
 
 
 
 
 
 
 
 
5. Using a 5/32” Allen wrench and a 7/16” socket/wrench, attach the mount to the dash using the 4 provide 
1/4"-20 Allen screws. 
 
6. Connect the Switch Panel harness to the system’s Communications Cable. Connect the PCI Race Radio 
harnesses. Re-connect the factory rocker switch harness. Re-attach the dash to vehicle. 
 
 


